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I, Whach is the longest river in India?
(A)  Krishna (B) Godavan
2y Ganga (I3}  Brahmaputry
(E} Yarmuna
erididfod” wdred FERS S0 287
(A) £ (B) Mmoo
fCy Hom ) wirmE
i cladod.
2. Which is the largest Delta in the world?
(A} Nile nver Delta (B)  Godavasd Delta
(C)  Krishna Del (D} Mississippi Delta
(E}  Sunderban Delis
EHudod ger wld g e 287
(A) Fesdd Ger (B} Fode e
() &y ag L) WBLD Gep
{E} oosffng au
3. *National Institute of Oceanography® is tocated in
{4} Kerala (B} Cujamu
(C} Muharashira (M Goa
(LY  Tamilnady
sl Bmiared] el LR’ M;_-rcﬁ Hul?
{A) Edg (B} romoa
{C) STy m 7=
{E) &gz,
4. In which location of Andhra Pradesh, the first antificial rain experiment was conducted?
(A} Chevella, Rangareddy (B} Atmakur, Anamtapur
(C)  Gadanki. Chitur (D) Pulivendula, Kadapa
(E) Kandukur, Prakasham
sodE TR BubZoas Eyflo JdPrdind: Bhlhoch Parilu Q88 Agtrududes?
(A) dag, Somdd Zer, (B) mdprts nivedds zen
() mdod, 28 2 (D} D&hodw, £535 g
(E) Sofoirds, Szda BT,
3. Inwhich siate. highest rescrves of “Gypsum’ are available?
(A} Bihar {B) Orssa
(73 Lltar Pradesh () Rapsthan
(E)  Madhva Pradesh
2o dures edrhfom B oo
(A) A8 (B) =0ay
(C) adumas D) oadn
{E) SLISET,
BRP-1S(2)-8002 (E) e E4



6. What is the highest hill in the Arvavalli hills range?

{A) Guru Sekhar
() Malva
(B}  Mount Abu

2Tl iéﬁéfm&@‘ @i Ddd Fwdsn

(AY Toda Fmd

(C) drerg
(E) AFod e

(B)
()

(B
(D)

Iebvaru

Hirmaadri

L ey
at

il

7 (O which of the following rivers, maximum number of dams are constructed?
(A) Godavari {(B) Mahanadi
{C)  Narmada (D) Tapati
(F} Gunga
& (Sol S’ D S8 I8 D BRshe Ehnion
(A} Moad (B} SFaR
(C) S (D) &5a
(E) HomriEd.
5. Bandhavgarh National park is located in
(A Madya Pradesh {B) Rajasthan
{C) Bihar (D) Crissa
(B} Uttar Pradesh
ol fb wdch smyddte 258 Gol?
(A) gy 23T (B) maq;:;-
Cy & (D) =bam
(E) 8% @is.
9.  “Kuabinmi® dam is located in which of the following states?
(A)  Kerala {(B) Kamamaka
{07} Assam (M) Onssa
{(E} West Bengal
‘€0l sl I5 8 sob?
{A) Zo¢ (B) Soyiad
(C) wire (D) 253
(B} 3%k Domrd.
10, Which of the following city is mosi nearer to Portblair on Sea rowie?
(A) Yangon (Rangoon} . {B) Kolkats
(Y . Chonmai vy Machilipatnam

BREP-15(2)-3002 (L) z

(5} Kakinada

Sdoudsrcd & Bub St FEBoubi J5gd Surbem aily Hiigo one
{A) cirodirR [dofira) (B} G'&Ea

22y (D) Hdddie

() sETd.
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Which of the following rivers is flowing towards north?

(A)  Kaven (B) Narmada
(C) Chambal {D} Brahmapuira
(E} Mone of these

Sddo iy K D5d 35 28T

{A) =3a (B) &g
(C) domd (D) g
(E] 28 s

Cn which date, there 15 a maximum distance between Earth and Sun?
(A)  January 30 (B) December 22
() March 21 (D} Julv 4

(E} Septermber 22

PG, Brndopd Sody Grlo SR ST ) Bl Gotuob?

{A) =558 30 (B} BThomb 22

{C) sz 2 () =T 4

(E) "pomd 22

Which states are sharing the boarders with other countries on three sides?
(A} Jamimu & Kashmir, Punjab. Haryana

(B} Jammu & Kashmir, Arunachal Pradesh, Sikkim
(C}  Punjub, Rajasthan, Harvana

(D) Haryana, Wesi Bengal, Gujarat

(E) Mone of thesc

Srdidger sodgdal S0 e o 247

(A} mdoy o8f Sowrd, Sopa

(B)  adey w6, edordd BE8 Mo

() Sozrd, omipd, el

(M) o, S0l Bord, Leed

(T Ddsd.

‘Palghat” joins which ol the following two states?

(A)  Kerala - Kamataka (B} Tamilnadu - Kamataka

() Tumilnady - Andhra Pradesh (D Andhra Pradesh - Kamataka
(E)  Kerala - Tamilnadu

Frodrd ik adh s Seudiad?

(A) 3¢ - gombad (B) Sbdmds - Soyis

(C) dludrd - so@nds (D) wogpdT - sl

(B} dd¢ - g

BRI™IS(2)-3002 (E} -3- k4
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19.

At which place, river Krishna joins the sea?

(A)  Antarvedi (B) Yanam

(C) Machilipatnam (D} Hamsala Deevi
(E) Kaikaluru

T30 I8 DEGes® Fenhsoh?

(A) woddeh (B} ciraro
(C) odddine (1Y) fronobd
(E) Eéurs.

Singur project is located in which distnct?

(A) Karimnagar (B) Medak
{C) Nizamabad (D) Adilabad
(E} Warangal

Dolrds | B W B Bod?

(A) &Bosnb (B) Do&E
(C)  Qedrerd (D) &b
(E) ZSdodds.

Wb o it Felion g Apinn Anlanae dinw Arvm seny Ancliy a0 Silad2.”
(A) Elephanta (B) Nicobar
(C) Rameshwaram (D} Salsette

(E) None of these

grdddiic Sobaln footu Hdgd &8 {f‘.ﬁéu 87

(A} S8aokr (B) atfrb
(C) olcdo (D) 383
(B} OG5t

Which of the following have almost the same point of beginning?

(A) Ganga and Indus (B) Ganga and Brahmaputra
(C} Beas and Tapati (D) Tndus and Brahmaputra

(E) None of these
& o8 8" J Joth ddber TETYT &3 [Fodo Hod Pipen?

(A) flom S:0csn Q085 (B) o S0ckn @I
(C) 5T Hobcka 638 (D) modd Docks pimPEg
(B) wa5d.

The place in India receiving the lowest rainfull is

(A) Leh (B) Jaisalmer
(C) Bikaner (D} Jodhpur
(E)  Udaypur

rdaBios® sdgey SETd0 $3rd walky REdo 282

(A) BT (B) B Homb
(C) DE38 D) &S
(B) dciogrd.

BRP-15(2)-8002 (1) ",
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Among the following cities, which one is at the high altitude above mean sea level?
(A} Delhi (B) Jodhpur

(C) MNagpur (D)  Ahmedabad

(E) Bangalore ;

& fol TS D Sindd wdged Jdt &F) Side 282

(A) 88 @) #5576
©) =S (D) eimes
(E) Borisrd.

In India, during which decade did the population record a negative growth-rate?
(A) 1911-21 (B) 1921-31

(C) 193141 (D) 194]1-51

(E) 198191

gro8ddos" o dryod® aTr hHE amrd s ©P5AN Sard dobadod?

(A)  1911-21 (B) 1921-31
(C) 1931-41 (D) 1841-51
(E) 1981-91.

Which of the following hydro-electric stations is situated in Uttar Pradesh?

(A) Mayurakshi {B} Rihand
(C) Kangsabati (D} Hirakud
(E) Kosi

SE0R0TS" &) 2o s sads Jogo 287

(A) Sodhroi (B) &5k
(C) fotid (D) ot
(E) &%,

How many “PIN Code™ zones are there in India?

(A) 6 (B) 7

(C) & (D) 9

(E) 5

roadios® <) “PIN Code™ £ dseoamon?

(A) 6 (B) 7

(C) 8 (D) 9

(E}) &,

Where was India’s first rocket launching station setup?

(A} Sriharikota (B)  Arvi

{C) Portblair (D) Thumba

(E) Bhubaneswar

rSdod’ JnhInds TES wrodol’ Soo J§,4 Doyt Scbndoes?

(A) ol (B) wbg
(C) ﬁ‘d_,ﬁn;o..oﬁ (D) Ssow

(E) 2033%5.

'
r=,||
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The Asian country where huge mineral reserves have recently been located?
(A) Pakistan (B) China

(C) Bangladesh (D) Sn Lanka

(E) Afghanistan

3 whoir G0 albe vd0g pie Juges SRR Sagon?

(A) 88 () A
{C) amrgaﬂ"_ (D) Zwof
(E) E%‘:‘D@S.

Who has won the LG People’s Choice Award?

(A) Sachin Tendulkar (B) Virender Sehwag
(C) ML.S. Dhoni (D) Brendum Mccullam
(E) None of thesc

‘LG 09 Trond v D NeyFHBsch?

(A) %05 Bodreys (B) Bos wkh
(C) choohz &R (D) @odd Msu
(E) J58rsda.

Who has topped the Forbes” World's 100 most powerful women list of 20107
(A) Sonia Gandhi (B} Angela Merkel

(C) Michelle Obama (D) Irene Rosenfeld

(E) Indra Nooyi

2010 ;‘I‘G;J“] T PHdedod wégoeﬁ #8SodS00d 100 Sod Lirde =hed” IndETso

b T0557

(A} Faddr mod (B) Jozer 3o S
(C) b werdr (D) =da 6"’@53§§
(E) =mogderon,

Recently, a cargo ship sank off Mumbai coast, causing oil spill in the Arabian Sea. The

name of the ship was

{A) Nittsu Maru (B} MSC Chitra
(Cy New Star (D) Gold Star
(E) None of these

adde Soowow 8F @rodost of TE S0da FSdo Sol wihoir ddnged® To &3

Fédc =0hch. @ JE LH 087

(A) Doy Srds (B) MSC O
(C) &g (D) 7g 6
(E) 2959

BRP-15(2)-8002 (E) -6-



29.  Police University in India will be established in

{A) Bangalore
(C) Kolkata
(E) Hyderahad

(B) New Delhi

(D) Chennai

grédddod” Fddn JEdTgoucho JEE Sy Ta'E08?
(B) &rgdd
(D) @8

(A) Bordrss
(C) F&sa
(E) “réoard.

Note @ (30-34) : Match the table T with table IT and find out the correct answer from the code

given below.

S (30 - 34) @ BGE [ 348 11 & =8360 S50 §od adyl Fhod ad@Ericd 595

Darrrdin o aeda.

30. Table I
(Person)

(a)  Y.V.Reddy
{(b) Koneru Hampi
{¢c) Endlur Sudhakar
(d) Kota Harinarayana
Code : {a)
(A)
(B)
()
(D)
(E)

e i ]

STAE
(558)
() 3.2.33
(by &3 Srob
(€)  Jodrd Dowrss
(d) Fi Foaodhes

ey ; (a)
{A) 2
(B) 4
{C) E A
(D) 4
(E) l

BRP-I5(2)-8002 (E)

(b)

L T ¥ I

(b)

L8] — — [t et

[ I R

[\JL\J-P‘—'-P-'E,"
R

7.

(1)
(2)
(3)
)

(1)
()
(3)
“)

Table IT

{Field)

Chess

Airforce

Banking

Poetry
d)

—

¥ U VPR T o B S T L )

288 11
(Forzas)
wddorsw
SR
wrgosoli
gddto

(d)

N R B R S E VL



31 Table 1
(Bones)

{a) Chest bone

(b) Color bone

{c) Knee Cap

(dy Shoulder bone

Codes : {a)
(A) 4
(B) I
(C) 1
(D) 4
(E) 1
28¢ 1
(Dages)

(a) &0y 508

(b) £odd Soah Jing

(€} 3r5d O

(d) ebaaos Jdxn8

STV
(A)
(B)
(©)
(D)

(E)

BRP-15(2)-8002 (E

()
4

o

)

(b)

(b)

(c)

R

)

-5

(1)

(3)
(4)

(1
(2)
(3)
(4)

Table 11
(Names)

Clavicle
Patella
Scapula

Stermum

(d)

=2

-2

E4



32, Table I
{Writer)

(a) Buchibabu
(b) Gopi Chand
(c) SriSd

(d)  Chalam

Codes : (a)
(A) 2
(B) 1
(C) 4
(D) 3
(E) 2
S8
(5ev)

(a) WA

(b) D el
(€ &&

(d) oo

Bhea : (a)
(A) 2
(B) 1
() 4
(1) 3
(E) 2

BRP-IS(2)-8002 (k)

(b)

(B

-2

(b)

(c)

]

(c)

L%

(4)

Table I1
{(Book)

Mahaprasthanam
Chivaraku Migiledi
Maidanam

Asamardhuni Jeevayatra

(d)

588 11
($5500)

SSJ;’I“E},%E;&O
D568 ASe
oo

VSRR L@

(d)

fad

Ed



33. Table [
(Airport)
{a) Meenambakkam
(by Santa Cruz
(c} Indira Gandhi International Airport
(dy  Dum Dum
Codes : (a) (b) (c)
(A) 1 4 3
(B) 3 4 1
() 3 2 1
(D} 2 3 4
(E) 1 2 4
588 1
(DiraFairen)

(a) drdowrdo
(b) frooEE
(¢} =08 mod eam“o;éccb ddraryFodn
(d)y &a g
P& (a) (b) (<)
(A) 1 4 3
(B) 3 4 |
(Cy 3 2 |
(D) 2 3 4
(E) | 2 4

BRP-15(2)-8002 (E) -10-

Table 11
(Place)

Delhi

Kolkata
Chennai
Mumbai

(d)

)

Bt

E4



34, Table [

(State)
(a) Meghalaya
(b} Tripura
(c) Manipur
(d) Mizoram
Codes : (a) (b) (c)
(A) 1 3 4
(B) 2 l 4
(C) 2 3 1
(D) 3 4 1
(E) 3 2 1

58¢ 1
(org Sa0)

(a) Shiroch
(b) @36 =
(c) SoBird
(d) eEido
STV () (b) (c)
(A) 1 3 -
(B) 2 | 4
() 2 3 1
(D 3 4 |
(E) 3 2 l

BRP-15(2)-8002 (E) -11-

(1)
(2)
(3)
(4)

Tahle 11
(Capital)

Imphal

Adzwal

Shillong

Agartala
(d)

2

]

Sgg I
(&‘ma:g “.ﬁééeao)

oo

E4



35, Who authored the poetry titled “Amrutarn Kurisina Ratri™?
(A) Chalam (B} SriSri

(C) Devarakonda Balagangadhara tilak (D} Devulapalli Krishnasastri

(E) Gurram Joshua.

windo K003 @ E22 S0 oD I8

(A) oo (B) 88

(C) BLdFod wafomdd ol §b) ES@EJ&Q SRTR
(E) rodo erdoa,

36.  Who was the first Chicf Justice of Supreme Court of India?
(A) V.R. Krishna Iyer (B3)  Hiralal. Jkania
{C) Mecharchand Mahajan (D 8. R. Das
(B) A K. Sarkar '

rdad D@ofy F9 P Tyohirg 2587

(A) Deb. gpicgs (B) roerd. 2xacir
(C) 58 S0b So5asS (D) chnus oh
(E) a3 dom6.

37. Which of the following is not a Central University?
(A} Jawaharlal Nehru University (B) Delhi University
(C)  Assam University (D) Madras University
(E)  Pondicherry University
5 god F8S° 08 Solfich DT goahin 87

(A) 25Tbord Tw SrdSss (B) &8 chrdsgy
(C) wimo FhrdSnS (D) s chrdsgd

(B) ol chrdseys.

38. Who invented X - Rays?
(AY  Ruther Ford (B) J.J. Thompson
(C) Lord Kelvin (D} Dirak
(E) Roentgen
X - Rays 2 808 587

(A) 63§ (B) BE THss
(C) of30c5 (D) &wE

() oodEs,

BRP-15(2)-8002 (E) -12.
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39, Who is the Present Governor of Reserve Bank of India?
(A) Bimal Jalan (B) Rangarajan
(Cy R.N. Malhotra (D)  Y.V. Reddy
(E)  Duvvuri Subba Rao
Gabg wof ©9 Roddlr @id KSGS J5ta?
(A) Dend zerd (B) dofioraa
(©) RN, e @ (D) 3.9.34
() dadred Soemod.
40.  Who is the first Woman Chief Minister in India?
{A) Nandini Satpati (B) Janaki Ramachandran
{C) Sucheta Kriplani (D} Jayalalita
(E) Shashikala Kadokar
erEanioeT BwhIndd Sire ;’:s:nas_ags.’uo@ ST
(A} 2oBa 88 (B) &8 ordedicitia
(C) ode gper (D) sdeds
(E) “ede 8880
41. Expand ‘BARC’.
(A} Bharat Auto Research Centre (B) Bharat Auto Recycle Centre
(C) DBhabha Automic Research Centre (D) Bharat Automobile Research Cell
(E1  Bhabha Automatic Renewable Centre
‘BARC 328 do-fothds
(A) 2dé il Hh) Dok (B) wrdd ests* 5288 owl
() zrer wséalng é-?aq:l wHotd (D) 2rdé el 308 Sngynd
(E) zrer i385 2dsad hokb.
42, Which of the following state has largest arca?
{A)  Madhya Pradesh {B) Uttar Pradesh
{C) Maharashtra (D) Rajasthan
{E)  Andhra Pradesh
Bul Tired’ vl IS FTeghin fo oo 267
(A) Bolignds (B) &8558T
(L) STy (I Ua;ﬁ;i
(F) wo@sas,
BRP-I5(2)-5002 (L) -13-
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45,

46.

Bhakranangal dam was constructed on which river?

{A) Sutle {(B) Damodar
(C)  Ganga (D} Mahanadi
Iffi‘] Yamuna

riEHolS wdgy QD6 fod?

(A) $BE (B) mTarss
(C) Kok (D) Soas8
(E) oo,

Who is the present president of China?

(A) Jang Zemin ' (B) Hu Jintao
(C) Yang Shangkun (I} Li Xiannian
(E) None of these

D BEY e wdginnd?

(A) ®cSrof Bod (B) &o dotrns
(C) oSoh ToRES (D) O &EirdchS
(B) J58rs .

Who is the Present Commissioner of Andhra Pradesh State’s Election Commission?
(A} Kaki Madhava Rao (B} Venkata Ramana

(C) Heeralal Samaria (D) &, Ramakanta Reddy

{E) None of these

SoHBT o Bid INFo SArDSG ISW?

(A) =8 Srddocd (B} Josis ddom
(C) Iroed d5rbdr (D) S&5r508 DG

(E) asdrsdo.

Who authored the novel “Rajasekhara Charitramu™?

(A) Kandukuri Veereshalingam (B)Y Suravaram Pratap Reddy
(Cy  Duvvurt Ramireddy (D) Gurajada Appa Rao

(£} Rayaprolu Subba Rao

“Tradpd S8B50” SHed SDoliBSag?

(A) Sodasrd JGd00i0 (B) Hdsddo e B
(C) Soired ool D) faderd eimo
[ & (D) T

= o T - b,
(E)  Trodoiens foemoa.

BRP-IS(2)-8002 (I2) 14-
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47.

48.

49,

30.

Which is the capital of “Nagaland™ state?
{(A)  Imphal

(C)  Shillong

(E) Agartala

“Trered” oy Tagd 26?

(A) =0dd

(C) &erofi

(E) wiige.

Which is the capital of Poland?

(A) Amsterdam

(C) Budapest

(E) Oslo

FBob 3¢ oo Dar

(A) sSpbmi

{C) a:cn.?'i:-i;:;

E) &3

Which is the largest Private Bank in India?
(A) [CIC

(C)  ING Vysya

(E) HDFC

T O8ET0S B8R HondE wgof 287
{A) odobho

(C) =of 3%

(E) Trddadh.

Who is known as “Andhra Ratna™?
(A)  Vavilala Gopalakrishnaiah
(') Tanguturi Prakasham

([5)  MNone of these

THoddd)” @l Dodubedid?

(A) Tldere FFoghain

(C) borbrd @G

(E) Jddrseh.

BRP-15(2)-8002 (E) -15-

(B)
(D)

(B)
(D)

- (B)

(L)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

Kohima
Aizawl

Berlin
Warsaw

805
232

Federal
Kam#taka

DEES
sombas

Acharya N.G. Ranga
Duggirala Gopalakrishnaiah

51:5*:‘55 Ja.% Som
CSJﬁIU"E} ﬁ‘ﬂ-ué&éoﬁag

E4
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54,

When is the Indian Airforce Day celebrated?

(A) O-::!.?bcr b (B) Qctober 9
(C)  October 24 (D} October 16
(E) Octaber 30

68 Jhrns BTGB Japd aiSoirtng?

(A) oFnds (B) wE=69
(C) csﬁie:E 24 (D) e8xb16

(E) esEﬁza & 30

Which of the following celcbrates its independence day celebrations on 15" August along
with India?

{A) Libiva (B) The Philippains

(C) Tanzania {17 South Korea

(E} Algeria

PIEE i 6 158 Tgdody BT ddo 28ay%E SH5'8fe AG?

(A) OBcsr (B) 283y
(C) tromRdse (D) e TOST
(E) ofootr.

&

Ayodhya city is located on the bank of which River?

(A) Yamuna (B) Ganga
(C) Sarayu (D) Narmada
(E)  Gomati

wdrdg d6dc Ta E.;C’hrgé &oh?

(A) oo (B) o

(C) Hdcdn (D) S5

(E) f&a.

Which is the Andhrapradesh’s “State Bird™?

{A) Peacock (B) Cuckoo
{C) Parrot (D) Blue Jay
(F) Naone of these

woRBT Ty 287 2672

(A) 30 (B) #io

(C) owdodend (13 drobi
(E) &b s

BRP-1S(2)-8002 (E) -16- E4



55.

56,

57.

38.

United Nations University’s head quarter is located at

(A) Tokyo (B) Delhi
(C) London (D) Sydney
(E) Dubai

08goragHing DfATgwaio P eorgocio JEd Gob?
() &g ®) &
(€) ooss (D) »&
(B) oaroon,

Vikram Sarabhai space centre is located at

(A) Ahmedabad (B) Sriharikota

(C) Bengaluru (D) Tiruvananta puram
(E) Balasore

IED Fogran R woblb ) @i’ wol?

(A) o 3}3\‘3?5 (B) grafe
(C) okt (D) adaddoddbo
(E) wrerdh.

Sardar Vallabhai Patel National Police Academy is located in
{A) Lucknow (B) Hyderabad
(C) Delhi (D) Mussorie
(E) Ahmedabad

56 Sparon BS IAIE P05 esrdar Q Sifod’ ud?

(A) o8y (B) Tmerd
(€) &9 (D) S0a0

(E) oimwmed.

The subject which studies about fishes is called

(A) Pinology (B} Ichthyology
(C) Celinology (D) Mycology
(E) Cormpology

Bde Krgy udsahdo Fh Y TSI AL

(A) oo (B) n8dreaz ]
(C) boos (D) Josoz
(B) sGoz. '

BRP-I5(2)-8002 (E) -17- E4



Electric resistance is measured in which units?

(A) Ampere (B) Coulomb
(C) Ohm (DY Joul
(E) Volt
DeigE AFEER) O chrdid” Foodnd?
(A achahb (B) &roood
(C) & D)y =&
(E) &8
60. Who authored “The God of Small Things™?
(&)  Amitabh Choudhary (B} Maha Sweta Devi
{Cy Salman Rushdie (D} Chetan Bhagath
{(E)  Arundhati Roy
‘4 ms s TS fof) " EodedBN?
(A) eded JE8 (B) Sodden 4O
(C) ®eomS ol (D) 3&5 K58
(E) wdoddordi.
'l
61. Who is the first Woman to win nobel prize?
(A) Mother Theressa (B} Gerty Coni
{C) Jane Addams (D) Madam Marie Curic
(E} Pearl Buck
FRE o Srold Dndd Slrd J5d?
(A)  Sodb goam (B) =g&s
(C) =35 esday (D) Sodao b Srgd
(E) 6 5. o )
62. In recently held IPL - 4 Cricket league, which team secured the runner up position?
{A) Chennai Superkings {B) Rajasthan Royals
{C) Bengalure Royal Challengers (D} Deccan Chargers
(E) Mumbai Indians i
adide =688 IPL - 4 (§35s° SHTRm IS 2y a2
(A) B3 25 Bofy (B} oTzags Tohd)
(C) Bokers oo TBoag, (D) 58,5 7§ ,
(£} Swowon nobddis.
BRP-15(2)-8002 (E) -18-
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63

64,

65.

G6.

The Right of Children to Free and Compulsory Education Act was implemented from
{A) March 1, 2010 (B) May 1, 2010

(C) September I, 2010 (D} Aprl 1, 2010

(E) November 14, 2010

gridtdos® &dd o830 AG0d dorg 8, Bio S8 Sod w8 SPoh?

(A) &8y 1, 2010 {(B) 31, 2010

(C) Zowd 1, 2010 (D) @S, 2010

(E) &Somb 14, 2010

Which Indian State Road Transport Corporation is operating largest number of busses?
(A) Tamilnadu (B) Karmataka

(C) Madhya Pradesh (D)  Andhra Pradesh

(E) Uttar Pradesh

ratdost e8¢ dopgs” z:-f;\’ncam Seagdad) o TRTE S So

-B_Ef‘

(A) Sdods (B) oot
(C) Bodgdds (D) soHas

(E) &85585.

In the sale of diamonds the unit of weight is Carat. One Carat is equal to

(A) 100 mg (B) 200 mg

(C) 300 mg (D) 400 mg

(E) 500 mg

Sgrod siihs’ elydo albhdiod. o 555t ) [ranefh ddrde?
(A) 100 208 e (B) 200 200 (rswes
(C) 300 08 rines (D) 400 209 yrsses

(E) 500 208 grioes

A device used for the measurement of radio activity is

{(A) Geiger - Muller Counter (B} Cyclotron

(C) Mass Spectroscope (D}  Nuclear Reactor
(E) None of these _

AT EEs Foldo F¥ SH@Eraed H85do 267

(A) 6 - Swos Tobss (B) 2EerS
(C) S»h ?QJ[_%?&L,EJ (D) Brgict 1
(E) adsd.

BRP-158(2)-8002 (E) -19- E4



67.

68,

69.

0.

Diesel oil is preferred for heavy motor vehicles because of

(A)  Higher efficiency and fuel EConomy (B) Less consumption

(C)  Less damage (o engine (D} Heigher industrial production from erude
(E) None of these

S80S ardSs Irdin PHIined qodtor A2 Jotks TEaE?

(A) odoE D&gSodom $3 Hado SH0oko B85 wogdo piy

(B) €839 9088 22880

(C)  zo=idh a8 3 30 dafado

(D) 5r& soxnd Hod 8D Arardaes” &8 wido

(E) a3 dds%.

“Dry ice” consists of &
(A) Heavy water (B} Liquid Ammonia
(C) Solidified Alcohol (D} Solid Corbondioxide

(E)  Solid nitrogen

B oR7 S A Sobood?

(A) 28 zedn (B) e3r@or @ho

(C) ndgdons sy S (D) Hodsidons S0 8 436
(E) 20dEd0dd Sititea.

When milk is converted into Curd. The sour taste 15 due to

(A)  Acetic acid (B) Citric acid
(C) Lactic acid (I} Tartaric acid
(E)  Osxalic acid

e DHALT SrBSHE YoBH TEEIE TEmo D52

(A) abaE ERARY (B) S8 wiosw,
(C) ergs ENVRAY (D} oS wikdn 1

(E) STIE Wb,

Of the following drugs, which one is present in cola drinks.
(A} Opium (B) Valium
{C)  Caffeine (D} Cocaine
(E)  None of these

For Srlollues® D Dhassoes 773007

(A) S (B) Tocho
©) 25 D) Sows
(B} Q255

BRP-15(2)-8002 (E) 20- o



71. Chemically Cane Sugar is
(A) Laciose (B) Glucose
(C) Sucrose (D) Fructose
(E) None of these
B FHIS 68 Srahse ToD0E?

(A) g5 (B) iiyEe
(€ 2oFe (D) P&
(E) 29573

72, Marble is
(A) CaCO, (B) CaSO,
{C) CuH\C\D3 (D) MgC 0,

(E} None of these
SFOTron [ 208 orow gy Erold o Jed?

(A) CaCo, (B) CaSO,
(<) CaHCO, (o M gCO,
(E) 2ds3.

73.  Spring balance works on the principle of
(A) Action and Reaction (B) Pascal’s law
(C) Conservation of momentum (D) Maxwell's law
(E) Bernoulli’s Principle
By @7 2 ALY BIrss 33 59082
(A) g 58 8 (B) &8¢ oo
(C) &aig Adgdr ddiadso (D) Sr§3ady dckdo
(E) 339 dosio.

74. A cricket player while taking a catch lowers his hands to
(A) Decrease time of impulse (B) Take catch safely
(C) Increase the area of impact (D}  Reduce the area of impact
(E) Increase time of impulse
B8 Es oo 2080 HipFRstyd: Sdo Fods BHFE Tlmo DIE?

(A) PTETY dhohe Tk (B) 2083 So8idom Hlpgdotg
(C) 268 BE7Y) Dok T (D) =88 Pazd dhoddo B8,

(E) @568 $5:08°9) Doddo Fot,

BRP-15(2)-8002 (E) )
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75. Which law is involved in the act of cleaning a Carpet by beating with a stick?

(A) Law of conservation of energy (B)
() Second law of motion (D)
- (E) None of these

First law of motion

Law of conservation of mass

SN Higo Tkt TEH SPS° 0T Fdos” D Aahde abaK0HE?

(A) 8 Dege; dakSao (B)
(C) Todd K508 drEdn (D)
() obsd.

76.  The temperature of the Sun is measured by:

(&)  Gas thermometer (B}
(C)  Platinum Resistance thermometer D)
(E) Thermo-couple thermometer

Ardigd GSng, G652 BB To Feod?
(A) Toso egsrsto (B)
(C) FiHo 2E'SE &F SrdLo C (D)
(E} &5 oy 43 drdso.

77.  Which waves are used in Sonography?
(A) Microwaves (B)
(C) Sound waves (D)
(E) Ultrasonic waves
FIEDS' O dforess TETG?
(A) Hrfiddomes (B)
(C) &2 dsores (D)
(£} wer@rds dloman.

78, CGreen house effect is due o
{A)  Visible radiations (B)
{Cy Voilet colour radiation (D)
(E} Infrared radiations
o 3% J_‘@g Jdodhined Eeofodaoh?
(A) $2508 HESdw (B)
(C) L=ordor 883w (D}
(E) e ird D8dmdu.

BRP-15(2)-8002 (k)

=5
[
1

FoolEd K5 Srgsn
\Silg Adgds Jahidon

Vapour pressure thermometer.
Pyrometer

20 DS SRdrhEe

Frlaptnla)

Infra - sonic waves

Supersonic waves

Sy ddomen
Ea¢£a§ SBEoMT e

Red colour radiation

Blue color radiation

3633 Sory D88

aed Bor DEGwnn

E4
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Fiatie

80.

81,

An airbubble in water shines because of the Phenomenon of

(A} Reflection {B} Refraction

(C) Difraction (D) Interference

(E) Total internal reflection

DBS* 635 TOmEH Priodads & Bod BELE) W FEE S)iciotoin S Emsn?
(A) Dor3ghdm (B) Siasssns

(C)  D5gH50 (D) gagdemios

(E) g woddd HoSdStn.

When a semi conductor is heated, its resistance

(A} Incrcases (B} Remains same

{(C) Depends on the semi conductor (D)  Depends on the temperaturé
(E) Decreases

sdrirs) 38 I8Pt ol TS0

(A) dmdiod (B) S8

(C) @gméﬂéo‘:.i ordnd wodunod (D) sqids ugddd eotnod
(B)  &rhavos, '

The life span of a human RBC is

(A} Onec week (B) Four months
(C) One day (D)  One month
(E) Two weeks

SFSHT S CE Badw g, ¥ oo Jod?

(A) «f 7o (B} &resis oen
(C) i (D 2 3e

(E) Tota o,

Cereals are mainly rich in

(A)  Glucose (B} Carbohydrates
{C) Maltose (D} Proteins

(E) Faits

gy TIpS I I GoRs a7

(A) drge (B) %0& sargo

(C) e (D) Srod8yapes

(E) &3 szga.

BRP-IS(2)-8002 (E) -23- E4



83,

85.

86.

The number of spinal nerves in man is

{A) 31l pairs (B) Ll pairs
{C) 25 panrs (D} 37 pairs
(E) 41 pairs

SrSPNSt Ji) IFHws disy Godron?

(A) 31 ades (B) 11 aden
{C) 25 zden (D) 37 mdéan
(E) 41 zahesa

Which of the following gases comes out from the Paddy fields?
{A) Ethane (B} Methane
(C) Propane (D) Ethylene
{(E) None of these

58 Foreod 5T Tooy 87

(A) &3 B) 58S
(C) &Foa D) 2885
(E) w5

What should be given to an athlete for instant energy”

(A} Proteins (B) Fart

(C)  Vitamins (D}  Lemon juice
(E) Carbohydrates

28 EEsods dfm 98 TEH % fod T8 I8 widdo?

(&) Srosdden B) &3

(C) dbdnse (D) 33y 830
(E) sehrdoew.

Who, amongst the following is regarded as the “father of genetics™?
(A  Charles Darwin (B) Rober Hooke

(C) Gregor John Mendel (D) Hugo Devries
(E) Alec Jeffrys

% B0l TbSt ‘mivgwd Derdniods’ el J30 wolrd?

(A v.:rgi: {TEES : (BY wad s
(C) @G evn otd- (D &“’ogf?' &3%

(E) »8§ Biod.

BRP-15(2)-8002 (k) -24. _ i - FE4



87.

88.

89.

20,

AIDS day is :

(A) Junel (B) December 1
(C) December 7 (D)  May 7

(E} December 20

Jond) Bio our Bod T0ST DE?

(A) =31 (B) &wmownd, 1
(C) &boxb, 7 Dy 3,7

(E) mond, 20,

Taj Mahal is threatened due to the effect of -

(A) Hydrogen (B) Nitrogen
(C) Sulphurdioxide (D)  Chlorine
(E) Magnesium

FTELTSH o §obTiS® 8D S0 Soodry feds?

(A) TE=s (B) 3E=S
(C) SendEEBG (D) sos

(E) Sofjfacivo.

Rajaji National Park is known for tiger protection, it s located in :
{A) Uttrakhand (B} Madhya Pradesh
{C) Rajasthan (D) Bihar

(E) Jammu & Kashmir

TEd @80 Ty DA Hove Dol Solfo W d Bob?

(A) &dorpeb (B) Sodgpmas

() maa‘.g;!ﬁ (D) 276

(E) aﬁ:}é - S"%‘éﬁ.

The forest cover of India as per Indian Forest Survey Report 2009.

(A) 17% B) 19%

(C) 30% (D) 32%

(E) 23%

88 wiad $0; 36 2009 B3 o rddBtos’ wisd wrodo Jod FEo Gob?
(A) 17% (B) 19%

€) 30% (D) 32%

(E) 23%

BRP-15(2)-8002 (E) -25-

Ed4



91.

o4,

The Wildlife Protection Act came in to existence in the year.

(A) 1970 (By 1974
(C)y 1968 (D) 1980
(E) 1972

BroPrane Hodn Srgy I SoSgios” vl s Sob?
(A) 1970 (B) 1974
(C) 1968 (D) 1980
(E) 1972

The Global Warming Potential (GWP) of methane is times than Carbon dioxide.
(A) 20 (B) 5
(C) 23 (Dy 10
(By 12 '

2rgd Sng, Fad >l rdadso s6 B ¢8)8 Gud ool Frdaggo g0l am) TR
S a?

(A) 20 ® 5
C) 23 (D) 10
® 12

The concentration of Carbon dioxide in atmosphere.

(A) 0.03% (B) 0.09%
(Cy 0.12% (D) 0.06%
(E) 0.33%

Toidnod TYE 3 ¥§)h Jod Dot SoBfc won =ob?
Ay 0.03% (B) 0.09%
() 0.12% (D) 0.06%
(E) 033%

The Centre for Wind Enerey Technology (CWET) has been set up at -
{A) Kolkata (B) Chennai

(C) Bangalore (D) New Delhi

(E) Hyderabad

Dok I8 Tepor Dokl T8 Aomyio Dobudod?

(A) SSém; (B) 3

(C) Doddrd (D) Srpdd

(E) :u:ﬂk_m“z:‘&

BRP-15(2)-8002 (k) -26- k4
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96.

The pH of rain water is :

(A) 7 By 38
{CF 57 D) 4
(E) None of these

38 W G pH dend Jod?

(A) 7 (B) 8
€y 357 (D) 4
(E) 20s9.

India’s Supreme Court issued a ruling requiring all the city’s buses to be run on compressed
natural gasin :

{A) 1999 (B) 1998
(C) 1988 (D) 1985
(E) 1990

Higes 229y SEc0OI B oD & M Iddared erid BReFE J Sodg e’ wBloNod?

(A) 1999 (B) 1998
(C) 1988 (D) 1985
(E) 1990

BRP-15(2)-8002 (E) -27- | DES



97.  Match list [ and list [ and select the correct answer using the code given below the lists.

ListI ListII
(Persan) {(Well-known as)
(a)  Anna Hazare (1)  Lawyer
(b) Deepak Parckh (2) Banker
{c) GVK.Reddy (3) Gandhian and Social activist
{(d) Harish Salve (4} Industrialist
Codes :
(a) (b) (c) (d)
(A) I i 4 3
(B) | 4 2 3
(C) 3 2 4 |
(D) 3 4 2 1
(E) 2 1 3 4
S8 10588 11 & 28088, §od 2c6S Fid SIErA0D H0Gd arands JobE Satnde
g€ 1 S8ET
(a) w»a) & (1) &gehad
(b) B&5E 55§ (2)  wrgodd
(c) =033 (3)  mobohard Sbahn drirel eigrhm
(d) 62 &8 (4) o 3¢
§G) : :
(a) (b) (c) (d)
{A) l 2 4 3
(B} 1 4 2 3
(C) 3 2 4 1
(D) 3 4 2 1
(E) 2 1 3 4

98, XX Common Wealth Games 2014 will be held at :
(A) Rome (B} London
(C) Beijing (D) Glasgow
(E) Sydney
20145° 208 soRgey Bdes J6 & irodudeon?

(A) Fa (B) wodd
(C) Hzoh D)
(E) ?o&;b..

BRP-I5(2)-8002 (k) -28. Fd



99.  How many rivers are currently being covered in the National River conservation plan?

(B) 26
(D) 38

H Sdoo 380En HardE & Pdado I3 e &a00?

(A) 22
) 33
(E) 41
(A) 22
(C) 33
(E) 41

(B) 26
(D) 38

100. Which country has declared Broadband service as a fundamental right?

{A)  America
(C)  Denmark
(E} None of these

(B) Britain
(D) Finland

Er&erods Dok |PEE BT (HES00E B0 DE?

(A) wZiss
(C) B8,

(E) 2d59.

(B) pos
(D) 2acs

101. Rajiv Gandhi Khel Ratna Award 2010 has been confered on -

(A) Saina Nehwal
(C) Mahesh Bhupati
{E) M.S. Dhoni

(B} Sania Mirza
(D}  Chetan Anand

2010 Dodegdy ol mob ) 6&51 BId) JH508 B dos?

(A) 2o STt
(C) So0irk gros
(E) cho.ohi, &9,

(B) #dakr g
(D) 385 wsos

102. Who is the captain of Indian one day International crickel team played in West Indies in

20017

(A) Harbhajan Singh

(C) M.S. Dhoni

(E} Suresh Raina

201 Sodeoes* I 20458 28435
(A) PEES boff '
(C) cho.as. 59

(E) 085 3.

BRP-15(2)-8002 (k)

(BY VVS Laxman
(D}  Goutam Gambhir

-29- E4



103.

104.

105.

106.

Who has been honoured with the 2010 ‘World Statesman’ Award?

{A) Gordon Brown (B} Dr. Manmohan Singh
(C) Nicolas Sarkozy (D)  Angela Merkel

(E) None of these

20105 Sos&)s Pol Twrgordd’ v I568 wosBehudos?

(A) 5¢5 @S (B) @EE 505 S Dok
(©) 28'es 3692 D) dozer 2GS
(E) J8drss.

Who among the following won the Nobel prize for 2010 in Medicine.
(A} Liu xia obo (B) Richard F. Heck
{C) Andre Geim (D) Robert G, Edwards
(E)  None of these

2010 Bouddod® WELTS® FTS wivd FodSS 557

(A) ©din g &° (B) 8dg. 9. §
(C) wo@ 2ohd (I c-’a}g 2. Jddtdy
(E) Qdcrss.

What is the name of the one man commission constituted by Central Government on
Babrni Masjid’s demolishion.

(A) Ranganath Mishra Commission (B) Sri Krishna Commission

(C) Dinakaran Commission (D) Laxmanan Commission

(E) Libarhan Commission

@R Sr9EED ol Bebdie Ao DE Hay EAFHS e DIoi3?

(A) GoRTE Qg $ar5S (B) § &3 0745
(C) 83455 €055 (D) o5 2745

(E)  Oub#5 ¢aras.

Who is the current Prime Minister of Britain?

(A} Gordon Brown ! (B) Tony Blair

(C) John Major : (D) James Callaghan
(E} David Camaron

BRI D8 BIrEod JS5%H?

(A) s &8 (B) &' Zond
C) =8 $bous (D) Z=ay ST

(E) 2325 soora.

BRP-15(2)-8002 (E) -30- E4



107.

108.

1049,

110.

BRP-15(2)-8002 (E)

Who wras the first woman Prime Minister of Australia?

(A) Julia Gillard (B) Carmen Mary Lawrence
(C)  Judyth Watson (D) Judith Mary Edwards
(E) None of these

s(hoakr 349 BoLBNcE Hire BoY 567

(A) =~Ooir e (B) S‘E&E ) 0
(C) wpdd iya (D) ergdd Do Jéed
(E) 288r st

Who 1s the current Deputy Speaker of Andhra Pradesh Assembly?

{(A)  Chakrapani (B) Neti Vidva Sagar
{C) Mallu Bhatti Vikramarka (D) Sailajanadh

(E) None of these

BONET upod B8 Argl 86 J5?

(A) SEard (B) 38 ﬁa‘sﬁ*ﬁ&'
(C)  Sowy e DESr G, (D) Zoward
(B) dddrsda.

Who 1s the winner of French Open Tennis in 20117

{A) Federer (B) Rafael Nadal
() Andre Moore (D} Diockovic

(E) Borg

(oS &5 BN - 2011 DB I58?

(A) D888 (B) d2d odd
(C) oircid 3570 (D) &§'a5

(E) &¢.

“International Congress of Mathamaticians Conference 2010 was held at -
{A) Beijing (B) London

{C} Hyderabad (D) Delh

(E) Sydney

20106 wodgaod fdd Tl Jarddo J§ & 26R08?

(A} HzoR (B) woda
(@) TEed (D) &8
(E) 2y

E4



111. India has won 101 medals in 2010 Commonwealth Games. In which sport India has won
maximum number of gold medals?

(A)  Wrestling (B) Boxing

(C) Shooting (D) Swimming

(E) Badminton

2000 g ! aroddEo 101 STk SBoded. D E4S° rEddo D8 DoTEs
BETed THohch?

(A) TgofR (B) =r&f

(T Srdof (D) gyl

(E) ergddsobon.

112. Who has awarded Rabindranath Tagore peace prize 20107
{(A) Nafisa Ali (B) Iram Chandy Sharmila
(C) IJyotirmayee Devi (D)}  Anasuvaben Sarabhai
(E) None of these
2010 20385 SDoBTE THrE To8 wirvid H968 volTchndos?

(A) Shar = (B) = oob A8
{C) a?"g@éém & (D) wii>rcirds Foron
(B) 358> 5.

113. Who is the winner of Federation Cup Football 20107?
(A) Mohan Bagan (B) East Bengal
(C) Dempo Sports Club (D) Chirag United
(E) Mahindra United
DEDNRS BD DTS - 2010 DFS J565?
(A) Zrrs omrd (B) ée‘_g Bomd
(C) Bor 1§y 46 (D) Qo8 30388
(B) Soirolr cw3Bs.

114, Which of the following companies paid the heighest price for 3G spectrum?

(A} Bharti Airtel (B) BSNL

(Cy  Aircel (D)  Reliance Communications
(E} Voda

3G DED B850 2 Eopd wa D85 o Sodos?

(A) da JansSad (B) Zabbabaad

(C) Jounbad (D) Sochy SiargUBas

{E) o

BRP-18(2)-8002 (E) -32- E4



115.

116.

L7

Upanishads arc books on :

(A) Religion _ (B)
(C) Law (D)
(E) Philosophy

shaado a3 Sonofodd |Hogren?

(A) Soéo (B)

(C) wrgoio (D)

(E) &z go.

The paintings of Ajanta depict stories of the :

(A) Tatakas (B)
(C) Mahabharata (D)
(E) Bhagavata

ozod DFw o o 18EboTon?

(A) =88 Sen (B)
(C) Hasgrddo (D)
(E) wriisdo.

Which among the following is the oldest dynasty?
(A) Gupta (B)
(C) Kanva (D)
(E) Mourya

% Bob T8I J radofo vwijod |FDIBSE?

(A) fhge {B)
(C) &=y ~D)
(E) &¥ds.

BRP-I5(2)-8002 (E) -33-

Yoga

Caste

QA

STATS)

Ramayana

Panchatantra

Trar a0

dSoddold

Kushan

Satavahanas
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118, Match the following :

List]
(a) Kalidasa
() Shudraka
{c} Varahamihira
(d) Vishakhadatta
Codes :

(a)

(A} 3
(B) 1
() 2
(D) 1
(E) 2
éégé' [a ﬁ%é I & 235680

R
(a) =emd
(b) &%
(c) Soarassudd
(d) drpod
£a)

(a)

(A) 3
(B} 1
(C) 2
(D) 1
(E) 2]

(b}

L R - T % |

(b)

L R T S

(c)

'—-ﬁh-ﬁaﬁ)-&-

(1)
(2)
(3)
(4)

{d)

Lkl —

Ind

4
Bod 2br0ds Fhod GHdrhol S35 paraud JobE Hakosw.

(1)
(2)
(3)
)

119. Which metal was first used by the vedic people?
{(B) Gold
(D)

(A)
(<)
(E)

Silver
Iron

MNone of these

(d)

B Y

List IT
Ritusamhara
Panchsiddantika
Mudrarakshasa
Mrichchakati ka

S85 11

By Hodty
wotl Hrods
BT T ES
Syl 888

Copper

36 Food’ Puer FobBVESTET TS Stiro Lt 2087
(A) Jod

(<)
(E)

£3030:500
bl 50
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120. When did Alexander invade India?

(A) 298 BC (B) 303 BC
(C) 302BC (D) 327BC
(E) 310BC

eBTodl rosdiod dodairg Jdpds Bardo?

(A) & Ir. 208 (B & . 303
(C) & & 302 (D) & 3. 327

(B) & 3. 310,

121. One of the major towns of the Godavari region in the Satavahana kingdom was :
{A) Pratishthana (B) Arikamedu
(C)  Kokkhai (D) Maski
(Ey None of these
rdTirie PEregedt oSt @reded® &) Supg Shwo 67

a"‘s y i

(A) B8BTS (B) wogdu
(C) Espo (D) SRy
(E) adsd \

122. Which one of the following was an important port of the eastern coast during the Gupta

period?
{A) Broach (B) Sopara
{C) Tamralipti (D)  Kalyan

(E) None of these
e Food® rindd Froded” Pinniond LE3Y a7

(A) &% (B) o
(C) ez (D) $egs0
(E) 235,

123. Who were the immediate successors of the Mauryas in Magadha?
(A) Kushanas (B) Pandyas
{C) Satavahanas (D)  Pallavas
{(E) Sungas |
HKES Srehrden O Jobd H0FONE TVHLY
(A)  Sosrsaoe (B) rodagen
(C) o (D) Doy
(E) oo,

BRP-15(2)-8002 (LX) .35 Ed



124, The remains of the Vijayanagar empire can be found in
(A) Bijapur (B) Goleconda
(C) Hampi (D) Baroda
(E} Nonc of these
DoBNS Tirag wTasves Jd Gaon?

(A) Sapd (B) A'oyo0d
(C) Hob D) ofF
(E) 2Dz
125. Put in ascending chronological order of construction
(a)  Puri Jagannath Temple (b) Meenakshi Temple
{c) Mamallapuram Rathas (d) Kutubminar
(A) abed (B) abdc
(C) becad (D)  bdca
(E) cadb
& Eobd Shmodh uf'aghod oldjod.
() rdeiamEsd swddo (b) rard vodho
ic) éméa%?’qjéo Jorew (d) Hedodoab
{A) abed (B) abdc
(C)  bead (1) bdea
(E}) «cadb

126. The sultan who setup a separate department for the maintenance of slaves was

(A) Firoz Shah Tughlag (B} Itutmish

{C) Balbun (D) Muhammad-bin-Tughlaqg
(E)  Aibak

2 S dved Fhoddo Tk HigE Jerim) JTmin Beda?

(A} 288 & &if§ (B) eeadh

(C) erepd (D) &eidos 49 &if

(E) ==&

127. In the third battle of Panipat, the Marathas were defeated by the
{A)  Afzhans (B) Mughals
{(C) English : (127 Ruhellas
(E) None of these
Sords &&Zzt:g cﬁmgotﬁ"’ fooeben 256 TaSt Soecho Fromd?

(A)  widow {B) Doodoenen
(C) wodoines (D) &rge
(E) oadrmd.

BRP-IS(2)-8002 (E) -36-



128,

130.

131

Paper came to be used in India in the :

{A) 13th century (B)  l4th century
(C) 1lth century (D) IZth century
(E) l6th century

TSR0 INB S0d shdod e @PATD?

(A) 133 dargo (B) 143 dargo
(C) 15 dergo (D) 125 d&°go

(B) 165 damo.

. Krishna Deva Raya was a contemporary of

(A)  Akbar (B) Firoz Tughlag
{C) Babar (D) Allauddin Khilji
(E} Aurangzeb

Cy DiTabe 58 HRordsaE?

(A) wgo (B) 305 &oif§

(C} zrad (D) werdbs 69

(B) T dorz.

Who was governer-general when the 1837 revolt broke out?

(A) Dalhousi {(B) Canning
(C)y Curzon (D) Lawrence
(E) Rippon

1857 Diron @dibaris a0Addpds ed) (D60 2idS J56?
(&) &T (B) sk
(C) 555 D) o5y

(E) 85S.

Which of the famous Indo-Greek kings embraced Buddhism?
{A)  Strato-1 (B} Democritus
{C)  Alexander (DY Menander
{E)} None of these

T Edad f’d@ggﬁoi‘ﬁ Pdng qed (i T J567

(A) @& -1 (B) [drghd
(C) wBmodd i) Somrodd

(E) addrsd,

BRP-IS(2)-8002 (E) -37-



132.

In which year Portuguese occupied Goa?

(A} 1510 AD (B)
(C) 1470 AD (D}
(E) 1610 AD

2 Bodg)fod FEphvard M wEohiah
(A) & #1510 (B)
(C) & 71470 (D)

(E) . % 1610.

133, What was the Gurugobind Singh’s birth place?
(A) Amriisar (B)
(C) Anandapur Sahib (D)
(E) Patna
s AD08 Bofi afjgoo J6?
(A) w©Ssnd (B)
(C) wlodirs dord (D}
(B} &rimy.

134. Osmania University was established in which year?
(A} 1915 (B)
(C) 1918 (D)
(B) 1922
—::.%*;Jﬁoijv oﬁmﬂ:ﬁf‘géﬁ Qlﬁqjadu S‘g’i}oﬁa&cﬁ?
(A) 1915 (B
(C) 1918 (D)
{(E) 1922,

BRP-1S(2)-8002 (E) -38-

1460 AD
1570 AD

&, £ 1460

&, ¥ 1570

Fatehgarh Sahib

Jammu

I8iE ¥ S

B
@

1912
1920

1912
1920
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135.

136.

The title of Viceroy was added to the office of the Governor - General for the first time in

(A) 1848 (B) 1858
(C) 1856 (D) 1862
(E) 1865

BRron &) HEY) KSGHE 2566 BB JBRELTOT JIpd VBT IOTD?

(A) 1848 (B) 1858
(C) 1836 (D) 1862
(E) 1865

Who of the following leaders of Bhakti movement was greatly influenced by Islam?
{A) Ramanﬁja (B) Namdeva

(C) Chaitanya (D) Ramananda

(E} Dayananda

2§ gl TehS’ 5 Ao Hdod I ST HPDBe BASEH?

(A) Trirderdd (B) aoBs
(C) Badg (D) Tdrdod
(E) &Sodrdod

7. Which of the following was the first newspaper published in India?

(A} The Digadarshan (B) The Calcutta Gazette
(C) The Bengal Gazette (D) The Indian Gazette
(E) The Delhi Gazette

rEEtFod SoRodndd JuiBudd FTi@s 287

(A) B BESGS (B) & Sosa N2l
(C) & BorSnal (D) & Qo805 Aas

(E) & &0 R

BRP-15(2)-8002 (E) =34 Ed



138. Match the following :

130

140

BRP-IS(2)-8002 (E) -40-

(a)  Mohenjodaro (1) 1921
(b)  Harappa (2) 1924 -61
ic} Lothal (3) 1954 - 58
(d)  Kalibangan (4) 1953
(a) (b) {c) (d)
(A) 2 i 3 4
(B) 2 | 4 3
(C) I 2 3 4
(D) 1 2 4 3
(E) 3 I 2 4
SOE 1D 508 & wasen, Bod adwds 8ol eSarion V0% a2raods JoE Botnsa.
AGS T S 11
o sodgyo
(a) JwFroFos (1) 1921
(b) T (2) 1924 - 61
(c) S'od (3) 1934 - 58
(d) =&oons (4) 1953
(a) (b) (©) (d)
(A) 2 1 3 4
(B) 2 | 4 3
(C) 1 2 3 4
(D) 1 2 4 3
(E) 3 1 2 4

Who among the following Englishmen was given title of ‘Khan’ by Jahangir?

(A) Thomas Roe
(C) Hawkins
(E) Macaulay

zarohs & 508 T8¢ JS08 ‘eSS el O =

(A} b &
(C) TEIR
(E) o3

The Kuka Movement was founded in -
(A)  Uttar Pradesh

(C) Bihar

(E)  Madya Pradesh

5r5* tstipioo 28 & (@FEododntos?
(A) &dopnds

(C) Hns

(E) Sodgbas

(B) Ralph Fitch
(D) Newbery

yo?

(B) o& o
(D) S0

(B} Malabar
(D) Punjab

(B) Sewrds
(D) Soerd

4



141,

The revolt of 1857 siarted from

(A)  Delhi (B) Kanpur
(C) Barrackpur (D) Bhopal
(B} Meerut

1857 Sddsarin JE,8 dndeonod?

(A) 69 (B) sdm5
(C) =Byl (D) b
(E) Jeod

142, “Poona Sarvajanik Sabha™ was founded by
(A} M.G. Ranade
{C)  Pherozeshah Mchta
(E)  Dadabhai Naoroji
CHrar drdtmds ST J56 Fhowd?
(A) oio.g. Cee -
(C) & Dore
(E) ool 362

143, The Indian National Congress was founded in

(B)
(D)

(B)
(D)

Bal Gangadhar Tilak
Gopal Krishna Gokhale

erafiomdd ok
Froin Fod

(A) 1867 (B) 1875
(C) 1882 (D} 1885
(E) 1887

gdd @dah sofin JRpd Thotnsod?

(A) 1867 (B} 1875
(C) 1882 (D) 1885
(E) 1887

144, The Jirst woman president of the Indian National Congress was

(A)  Sucheta Krupalani
(C) Sarojini Na u
(Z} Anni Besani

(B)
()

Raj Kumari Armorit Kaur *

Vijayalakshmi Pandil

S P8 Tolin IuLREndd Sire vdiire JSH?

(A) Dde gHod

(B)

oradodrd @ﬁ:wdr‘_fn’ T8

(C) &FLd otk (D) dsclod] 5088
(B} wlfiTod

145, Who was the first president of the AITUC?
(A) C.R. Das (B} Lala Lajpat Rai
{Cy Dewan Chaman Lal (DY B.P. Wadia
(E}y N.M. Joshi
".r’\]'I'U(“."Em\ig_aDﬁ-éﬁ {5555.3&;563?
(A oesd om {(B) ereropndoroin
(C) &Fa oSfs od (D} an.obcr

&
%

i

(F) b5, chS &9

BRP-IS(2)-8002 (E) .



146. All the three Round Table conferences were attended by
{A)}) Dr B.R. Ambedkar (B) MLA. Jinnah
(C)  M.K. Gandhi (D} Annie Besant
(B}  None of these
dordly To& Twnd Sirdeod Sadond B58 JHeo?

(A) o$6 Dub. wodlg)6 (B) ohds. o 2
(C) choZ mod (D) eadnols
(E) J38rs+.
147. The “Inquilab Zindabad™ Slogan was given by
(A) Chandra Shekhar Azad (B) Subhash Chandra Bose
(C) Bhagat Singh (D) Mahammad Igbal

(E) Lala Lazpat Rai

“aofterd gorrers” @) DT ol D687

(A) Soisind warb (B) gk Sods
{C) dridfoh (D) asyd

(B} eroronidco®d

148. "The National Planning Committec” was set up in 1938 under the chairmanship of
{A)  Subhash Chandra Bose (B) R.F Dutt
(C)  Jawaharlal Nehru (D)}  John Mathai
{(E) MLEK. Gandhi
“pio HerdS S8 19385 So weSod” 56 md‘oﬁéﬁsoeﬁ" E?Ggé.n Sahadod?
(A)  Sogrl Dol (B) e85, 88
() adFdorSir (D) = Sipow
(E) cio3. rod.

149, “The Indian National Army™ was founded in .
(A) 1938 (B) 1939

{C} 1940 (D) 1941
(E) 1942

“nodahs TS 6" 3 Seddifed Photndon?

{A) 1938 (B) 1839
(Cy 1940 (D) 1941
(E) 1942

150. Where did the Congress Working Committee first accept the idea of the ‘Quit India
movement’? :
(AY  Wardha {(B) Poona
(C) Nagpur (ID)  Bombay
(E)  Bhopal

58 2003 rofin S8,k EE Dsrddos® oS mobolr edpivo’ wd*Ss wardodadod?
A) =g B)

(C)  aiamb (D) Fozron

(E) &FFd

BRP-15(2)-8002 (E) -42- E4



151,

153.

154.

Who was the Prime Minister of England when India got Independence?
(A) Earl Mount Batten (B)  Winston Churchill
() Lord Attlee (D) Lord John Russel
{(E)  Stanley Baldwin

grédddo irydoBso Fobdyds &l nomod B PTR ISH?

(A) 28 8705 hS (B) 2585 506
{C) of§ LT D) er§ s ed

(E) 58 gD

‘Badler Commission” was associated with :

(A)  Judiciary (B} Revenue Administration
() Police Administration {Tyy  Education

(£} Media

u%g Eoran’ Ddorrnd donohodob?

{A) erghicd (B) Tadrg wdydpas

(C) &rddo @&é&)f@éE (I3 Jcﬁ;g@éﬁ

(Ey  amdair,

The lirst Muslim to be elected President of the Indian National Congress was :
(A)  Maulana Azad (B) Badruddin Tyabyji

{(C) M.A. Jinnah (D} Mobhammad Al

(E} ~Jakir Hussain

gréd erdo® soing JNEend DugANGE Suio edghBNai?

(A) &Feord szd (123 &@%S gl

(C) cedo.). 2am (D) Somb gsd)

(B) 86 viys

Who was the political guru of M.K. Gandhi?

(A)  Gopal Krishna Gokale (B) Bal Gangadhar Tilak
() Motilal Nehru {0y Lala Lazpat Rai

{1 Dadabhai Naoroji.

M.K. o @y, cababd K185 57

(&) F‘i‘&ﬂé&‘gﬁ*@é (B erofomdd aos
() Jrderd G 3 (D) eroroabécd

(F) orogeoh T62.

. The abolition of the I.A.S. and the LES. has been recommended by the

(A} Dhebar Commission (B) Kalekar Commission
(C3  Kher Commission (D)  Rajamannar Commission
() G5, Pathak Commissian.

wio o8 Shreds (1AS, IPS) é&s Hoired HIEd BDS L2ras 28?7

(A) Ferd $0rho (B} ETE5 £apas
(C] TS5 EDras (D) Tzdemb Edmad

(E) 2.0, >&E 5aras

BRP-IS(2)-8002 (E) -43-



156.

158.

159

16().

The Anti-Defection Law was enacted as early as 1979 in :

(A) Kerala (B) Jurmmu and Kashmir
(C)  West Bengal (D)  Tamilnadu

(£} Kamataka

<3 Bowsoo Sipd) 19796° SnkInddarom doyes 3b3 o J6?

(A) 3¢ (B) mswy - w85
(C) 53 Bord (D) SNérdd
(L) $omeg

- If the number of seats allocated to a state in the Lok Sabha is 42, then the number of seats

reserved for the scheduled castes in that state will be -

(A} 21 (B) 15 (Cy 14 Dy 7 (E) o6

28 o’ 42 S8Ry ?Q:uémﬁ )00, Tadrgey Sooros J8) ?oég Stronodadacn?
(A) 21 (B 15 () 1 (Dy 7 (E) &
Panchayat Raj was first introduced in India in October, 1959 in -

(A)  Rajasthan (B) Tamilnadu

(C) Kerala (D) Kamataka

(E) Andhra Pradesh

HoTond orE g Jednddarom ©E05 19593 Hosd¥od* O TR0’ wiien Hdbatod?
(A) ouzs (B) dhodards

(©) o5 D) oy

(E) wogznad

In the Indian Constitution, the Right to Equality is granted by five articles. They are
(A)  Article 16 to Article 20 (B) Article 15 tor Article 19

(C}  Article 14 to Article 18 (D) Article 13 to Article 17

(E)  Article 12 to Article 16

wrdé Tergoriod” Birddey iy, O o w08 0xT PodYnbos?

(A) ©BEG) 16 Sob 20 35% (B) wQEd) 15 So0b 19 568
(C) w8 14 S0 18 S5 (D) =088 13 So0d 17 S8

(E) w88 12 08 18 $0%

Who among the following have been the Union Finance Ministers of India?
(1} VP Singh {(2) R Venkatraman

(3)  Morarji Desai (4)  Pranab Mukherjee
Seclect the correct answer from the followin g

(A} 1.2and3only (B) 1.3 and4 only

({C} 2and4only (D) 1,2,3and4

(E) I and 2 only
& [SoBT0S JEBSE wrdd o wisTy oo 50 Iarda?

{1 & & %eh (2) ol Togrtes

(3)  Sworfiees (4)  @Pead S

w800sd BDIrTY & fob oy JaNE od.

(A) 1,2 Zo0cSs 3 SrEd (B) 1,3 Sboio 4 Sr@
(C) 2 Sbodn 4 SrEae (D} 1,2, 3 dobasw 4

(B} 1 Sobcio 2 Smsdo.

BRP-15(2)-8002 (I5) -14- k4



161,

162.

Match List - | with List - IT and select the corect answer using the code given below the
lists

List -1 List - I

(Person) {Position)
(a) Nagender Singh {11 Chief Election Commissioner of India
(b  A.N. Ray (2)  President International Court of Justice
(o) R.K. Trivedi (3} Chief Justice of India
(d)y  Ashok Desai {4} Automey General of India
Codes ; (@) (b} () (d)
(A) I 4 2 3
(B) 2 3 l 4
(C) 1 3 2 4
(D) 2 4 1 3
(E) 1 2 5 4
S8 10 B8 11 & 28300 Fodowihd Fhod ad@Eod S0 Darirao ghafriod,

ags 1 =g Il

(5g8) {5e50)
(4) ThRobs ol (1) e adge PEd wésth
(b D% T (2) wosTaah Fgcﬁ.‘uﬁgéa BhEod
{c) wbE @3b (3) s Pord agdiaderg
(d) w5 deon (4)  wirb) =8 (zrddido)
Codes : Y (b (c) (d)
(A) I 4 2 3
(B) Z 3 i 4
(C) 1 3 2 4
(D) 2 4 1 3
(E) 1 2 3 4

If a Panchayat is dissolved, clections are to be held within

(A) 1 month (B) 3 months
(C) O months (D) 9 months
(E} Omne year

Somrondes 9 wond d6Td Jodsrood” JREoy AGreTd?
(A) of Jo (B) &Sl oo
(C) ey Swe (D) &390 Jows

(E) o§ Sosdido.

BRP-15(2)-5002 (I2) -43- E4



163.

164,

165,

166,

167.

Among the following presidents of India, who was also the Secretary General of Non-
Aligned Movement for some period?

(A) Gnani Zail Singh (B} Dr. Sarvepalli Radhakrishnan

(C) V.V Gini () Dr. Shankar Dayal Sharma

(E)  K.R. Naravanan

9 S P8 Fodraodin wdFEErs DELD aidET eok?

(A) =2 25 2oh (B) w36 3400 oordns

() 2.9 a0 (D) @E5 5036 SasE 40

(B} E. wf aorcbond.

Who headed the Interim Cabinet formed in the year 19467

(A)  Rajendra Prasad (B) Jawaharlal Nehru
(C)  Sardar Vallabhabhai Patel (D) Rajagopala Chari
{E} Maulana Azad.

19466" Domyin Dobwdd fufgoss SOIE vpERSG?

(A) oHol B8 (B) 2358erS I
(C) 3gb Seeeros 385 (D) Tufroos

(B} &SFera sard.

According to which law, special constitutions were allocated to Muslims?

(A) Indian Councils Law, 1909 (B} Indian Councils Law, 1919
{C) Indian Councils Law, 1861 (D) Indian Councils Law, 1892
(E} None of these

2 Hhe e Snhoos BHBgE AGraisTes SironoTd?

(A) 1908, 2080503 Tl tio (B) 1919, nobdhs T ko
(C) 1881, modatos TSy €0 (D) 1892, modahad TG dyo
(B) 2353.

President’s rule can be imposed in any state for a maximum period of

(A) One year (B Three vears

()  Six months (D) Two years

(E} Indefinite period

TEN8 rosie ol T@ou"‘ ﬁﬁ;_:on"* Jod Foo DHodiuy?

(A) =8 Dodsdo (B) Hordh Seddhioren
(C) e38) Jeven (D) Tods Dosdoren
(E) 208 posound

Which president of India served the office for the shortest period?

(A} Sarvepalli Radhakrishnan (B) Zakir Hussain

(C)  Gnani Zail Singh (> Fakhruddin Al Ahmed
(E) Neelam Sanjeeva Reddy

©8 d5).5 Too HEIS° &) TLBE J56?

i !

(A) $BgHE TErERs (B) &8 Toind
(C) 220 BS Doh (D) 500 =0 vimb

(E) feoo Hodd 9G

BRP-I5(2)-8002 (E) -46- 4



168, Who was the chairman of the Delimitation commission for readjustment of constituencies
in the year 20027
{A) Prakash Singh (B) Mohan Singh
(C)  Kuldip Singh (D) Ram Prakash Singh
(E)  Ajith Singh
2002 HoSd)ios® IBreisTe PIoPas LArdd I50 Fabidos’ domt IFE?
(A) @52 doh (B) 3o Hoh
(C) %008 BofR (D) oo @ Doh
(E) wad Dol

169. Who is the Second Chief Information Commissioner of Andhra Pradesh?
(A) Charan Das Atha (B) Kaki Madhava Rao
(C) Mohan Kanda (I3} Jannat Hussain
{(E} Dinakara Prasad
BOSHAT oy Bods B $ired EAPRES BDH?

(A) @65 T8 v, (B) 58 Srdsod
(C) Rrira o m 235015 51}'5&{35

(E) B5E5 Hs.

170. Who is empowered to suspend the Operation of Fundamental Rights?
(A) Parliament (B) Supreme Court
{(C) President (D} Prime Minister
{E} MNone of these
|rdlod g o vliend 56.‘5:3 W wbsrdo J508 fod?

(A) FEEotn (B) #Hpo Fgn
() THHa D) PorsSood

(E) asdrsdoy

171. The normal term of a state Governer’s office, is
{A) 3 yeurs (B) 4 vears
(Cy 0O yeuars (D) 5 years
(E) Dependent on the tenure of the state legislators.
o dsaom G‘\:& P‘i:ﬁéﬂlﬁ o?mézr B BOB0E?

(A)  Zoorda ﬁof}é&mm (B} arevils Sosdores
(C) w& DoddyTren (D) o doddTes

(E) og o588 debge L*cﬂ-i)s‘-uu‘t‘ﬂ BFEHE Golnold,

BRP-15(2)-8002 (E) -47- 4



172, Which of the following does fall within the perview of the Election Commission?

(1) Election of the Prime Minister
(3) Conduct of Election of President

(A) 1,2.3and4
(C) 3and4
(E) 2.3and4.

{2)  Recognition of Political parties

(4)  Assignment of Election symbols to
Political Parties

(B) 2and3

(D) 1,2and3

& 1808 TES* Jogl £ar4S 288G° & eoTdd?

(1} Herdbood g
(3) TiH8 s
(A) 1,2, 3 Soboko 4
(C) 3 Sobcdan 4

(B} 2,3 5008w 4.

(2} oaéch f‘fg«a: g o)

(4)  oelch o e e Siranoy.
(B) 2 Sobaio 3

(D) 1, 2 SoBasw 8

I73. The procedure for the amendment of the Indian Constitution is givenin :

(A) Article 358
(C)  Article 353
(E) Article 368

(B} Article 320
(D) Article 356

Ehaluta] O‘-‘m"‘gm‘i wades dodo o whEoy* 'ﬁn@‘ﬁuéa&uﬂh.

(A) w085 358
(C) w08& 353
(E) wQg& 368,

(B) w8465 320
(D) Q& 3569

174. Which of the following Union territories has a High court of its own

(1}  Chandigarh

(A) 1 Only
(C) 2 Only
(C} 3 Only ¢

& Sob PO J SoTdd |Fogren odom

(1) Hodwn&
(A) 1 3mss
() 2 Songdo

g
(E) 3 S,

(2) Fobdp

{2) Pondicherry

(3} Delhi
(B) 2and3
(I 1and3

I75. Which of the following state governments launched Jawahar Knowledge Centre to train

rural youth?

(A) Delhi

() Andhra Pradesh
{Ey  Maharashtra

BRIP-1S(2)-8002 (E)

(BY Karnataka
() Tamilnadu

= TR WEHEs Tdre dindd 3Em Fo%H aiind Jend oo Jomdbo Bhob?

(By  gomiasg

o,

(DY #ledad
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176,

L7,

178,

MNarasimham Committee was related to

{A)} Energv

{C) Banking

(E) Infrastructure -

HEDoo EQodl 308 Sonchodod?
(A) 208

(C) wrgedoh

(E) 558 Sddien,

(B) Peiroleum
(D) Air Transport

(B) i dcivo
(D) Jonb @5*E

Who is the Chairman of the 13" Finance Commission?

(A} Vijay Kelkar

(C)  Pranab Mukherjee

(E) Ranga Rajan

135 w88 Do wEgREHo?
(A) Dzl Eﬂﬁﬁ

(C) Hod Snopd

(B)  Soficas.

“SEBI” was established in

(A) 1993
(C) 1992
(E) 1991

“SEBI" aypds Homyin Schndod?
(A) 1993
(Cy 1992

(E) 1991

179.

180,

Dalal street 15 situated at
(A) London

(Cy  MNew Delhi

(E) Chennal e
tieed @65 5 & &od?
(A) woda

(C) &orgdd

(E) &3).

(B) Amartya Sen
(D}  Chidambaram

(B) wiodsha
(D) Domdo

(B) 1988
(D) 1990

(B) 1388
(D) 1990

(B)  Paris
(D) Mumbai

(By =>0o
(D) Somomw

Durgapur steel plant was constructed with the assistance given by

{A) France
(C) USA
(E) Britain

(By  Germany
(DY Russia

grard Gy, £o7)mdo 50 Hirdiind ::IU‘:\J&JO Doladoh?

(A) @y
(C) oot
(E) Das.

BRP-15(2)-8002 (E)

(B adﬁ}
(D} darg
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181. What is the ‘green gold™?

(A) Tea (B Coffee
(C) Rice (D) Sugar
{E} Wheat

Sy porde” vl 3@0&?&3?

(A) & (By &b
(Cy 58 (D) Hodord
(E) Afsasa,

182, Indiais not a member of

(A) G-15 (B) WTO
(Cy G-20 (D) G-24
(E) ASEAN

TESTFo 50@ dalgren d?

(Ay #-15 (B) WTO
(Cy & -20 (D) =-24
(E)  ASEAN.,

183. InIndia those farmers are called “Marginal Farmers” who hold land up to
(A) 2 hectares (B) | hectare
(C) 3 hectares (D) 4 hectares
(E} None of these
erdEniost 3 TEY 308 drd ¢d) T08 “Gdrod 3w wobrdh?

(A) Dot mse;dc;f\ (B) &8 rgd
(C) S gy (D e R

(E) 23 o 55.

184. Which state has the highest production of potato in the country?
{A) Punjab (B) Haryana
{C) Bihar (D)  Uttar Pradesh
(E) Maharashtra
FrIEBEos’ Lenldd JEg S Sodod Tio 287
(A) Sowrd (B) Fogar
(C) b6 (D)} eEnts
(E) S&Fog.

185. “Food for Work™ programme was launched in which plan period?
{A)  Second Plan (B} Third Plan
(Cy Fifth Plan (D) Sixth Plan
(E) Seventh Plan
308 eitdo BT o @erdE roodt | Fodomd?
(A) Todd @ewrds (B) Sordd Herdg
(C) 285 PHerdd™ (D) w85 (Ser@E
(BE) ¢35 per@8.

BRP-15(2)-8002 (E) -5



186.

187.

188,

189.

190.

Who introduced the paper currency first time in India?

(A)  Akbar {B) Aurangzeb

(C)  Bnotsh Government () Mohammad Bin Thuglak
(E) Babar

ESRFoS’ D6 EoMN FndBTE PITGITW?

(A) o8 (B) Zoonzae

(C) 1284 Dodco (D) SoimG AR

(E) arads.

Which of the following is a direct tax?

(A)  Income Tax (B) Excise Tax
(C)  Sales Tax (D) Gaft Tax
(E) None of these

BobTds’ HagE 38y 20?7

(A) weradh 5l (B) J5& B
(C) widyfo D& (D) sl iy
(B) 26 s,

Head office of Asian Development is located at

(A) Kaulalumpur (B) Manila
(C)  Dubai (D) Tokyo

(E}) Singapore

BHeS Bohol gof PN FTgude J5E Sol?
(A) FTooodrd (B) HSader
(C)  choerom (D) &g
(E) HoR%rs,

In the year 2010, who has designed ‘Rupee’ symbol for Indian currency?
(A)y  Krishna Kumar (B} Ram Kumar

(C) Raj Kumar (D) Roushan Kumar
{(E) Uday Kumar

2010 Sonddod” wdd §6@“‘5 Grrow” § Do Sdird SHb J567?

(A) B Bdrd (B) & Soird
(C) o fodrd (D) &ae sded

(B} &ddi a6,

When the Consumer Protection Act in India came in to force?

(A) 1980 By 1982

(Cy 1984 (Dy 1987

(E) 1991

dddtes DABPAGe TEN e S So ) dodddo Wod WS STod?
(A 1380 (B)y 1982

() 1984 (D} 1987

{(E)y 1991

BRP-IS(2)-8002 (E) -51-



191.

192

193,

194,

195.

IMF was formed as the result of which conference?

(A)  Washington conference (B} Rome conference
(C)  Brettonwood conference (D) Geneva conference
(E)  None of these

IMF 2 8&rdre 39dom Jomin Bokodod?

(A)  &hofie Sadrada? (B) & ddrddo

(C) HeHh& ddrTde (D) Ba dardse

(E) »ds3.

First Export Processing Zone (EPZ) in India was established at

(A) Noida (B} Muradabad

(C) Kandla (D) Surat

(E) Faridabad

FrodlF0" Juiyandd “AEEFS Rboh #8788 IDU*:@J Dchndod?
(A) Sonm (B) Swdorerl

C) som () &rdd

(E) S8orens.

Government has extended Mid-day meal scheme to cover the students uplo class

(A} 7o (B) o"

() o Dy 10%

(E) gt

SITET) DR HEF) SoEpabdso JGS SU1E JTgiA dorghe DR00D dbob?
{A) 73 (B) 6%

(C) 95 (D) 105

(E) 84

Which of the following Corporate house is developing a port in “Mundra™ (Gujarat)?
(A) GVK (B) Adam

(C) L&T (D) GMR

(E) Reliance

D TEFE 0P MrES'D “Sno St L4895 efih Sieb?
(A) 238 (B) =md

(C) 26wk & (D) schoons
(E) Godby)

Which state is called as “God’s Own Country™?

(A)  EKamataka (B) Andhra Pradesh
(C) Kerala {13y Tamilnadu

(E}  Orissa

") L9 $oi” @ Q TR Deadrds.

(A) sombos (B) wogpos

(C) Fae (D) Sdodads

(E) =0dm,

BRP-15(2)-8002 (k) -52.
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196.

197,

198,

[99.

200.

BRP-I5(2)-8002 (k)

Which is the capital of ‘Lakshadweep’?
(A)  Adzwal

(C) Pondicherry

(B)  Silvassa

wibhe TR 267

(A :::uﬁ‘ﬁt';

(9 :"J‘wc,“:-ﬁwx} '

{E) ‘:b&x‘:g;ﬁjj.

Which 15 the longest beach in India?

(A1 Mumbai

(" Chennai

(E) Visakhapatnam

erddfdod® wddrdidond &0 258 God?
(A) Swomoxn

(C) 23

(E) meééﬂ&

Ecd soils are suitable for which crops?
iA) Cereals

() Commercial crops

() DNone of these

JFdees O Sobk elfroom Goiron?
(A S Tages

(C) m;ﬁag Sotoms

(BE) DdsH

Whao introduced tobaceo to India?

(AY Chinese

() Duich

(E)  Portuguese

TOEEE0S" Pt @'}33"&:%?& T’
(A) Blaioe

(C) ey 5-?’»38{1::-

(E) éﬁcqjﬁ;a: J,

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

Indian Council of Agricultural Research (ICAR) s

(AY  New Delhi
(Y Cultack
() Hyderabad

(B)
()

grdd Spadrch B8 Bod (ICAR) 288 soi?

(A) Targ &5
- Lard

ST

(E) Srgwrd

(B)

(1)

Daman
Kavaratu

PH6E

Mangalore
Tuticonn

ot
gt

Pulses
Gurden crops

E’:;-E'}Jj g e

&'y Hodtioo

English
Russians

@aﬁme.-}
d.ﬁ"g Pvitehd

situaled at

Cochin
Nagpur

s -i| iy
k2
& 2
<

E4



